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B2 K F ¥ B 8 T = # B M
NO.
hiLe ¥ bAIESA %
FEFE =2 H o BE FIRE | AR A [ERZRE % = M+6 X H=L, il ST A KR ——
Chkii) ha K PR
S45 2,0004/ha
PRE R [BREETT R T4 =5l 67- 13- 4 | x| (53) 3.00/ 1,800 — 70| 40| 310[16~22 30%
S47 2,4004 /ha
AREETH KT T4 =il 67- 13- 6 | 2% | (51) 2.05| 1,480 — 30 20| 150[{16~22 30%
S48 2,400 /ha
AR EETH KT T4 51| 67- 1Z- 8 | % | (50) 0.70 510 - 90| 60| 450[16~22 30%
S49 2,400 /ha
AR EETH KT T4 )] 67- 13- 9 | v/% | (49) 0.75 540 - 100/ 70| 520]/16~22 30%
S51 1,6004</ha
AR EE T KT T4 )| 67- 13- 11 | /% | (47) 2.00 640 - 150/ 80| 630]/16~22 20%
S47 1,60074</ha
AR EETH KT T4 )| 67- 13- 14 | 2% | (51 0.60 200 - 150/ 80| 630]/16~22 20%
S51 2,00074/ha
AREETH KT T4 =il 67- 1Z— 20 | v% | (4D) 2.35 1,410 - 60] 50| 360[16~22 30%
S52 1,800 /ha
AREETH KT T4 =il 67- 13— 21 | v/% | (46) 2.40 870 - 120/ 80| 600]/16~22 20%
i 13.85| 7,450 —




B2 K F ¥ B 8 T = # B M
NO.
HiH LR A L e
HEME = EE T N BE R | R A [ERZRE % = M+6 X H=L, il ST A KR aesse| g
(FKikn) ha S S A
S53 1,2004/ha
PR IR AR BT R S A o [ IRy 69- (- v/ | (45) 0.43 110|  0.34 160] 40| 400[{16~22 20% | 80%
S54 1,2004/ha
A TR i A e o R 69— |- % | (44) 0.37 90/ 0.30 210 50| 510[16~22 20% | 80%
i 0.80 200/  0.64




